

T.N. Agrawal Teacher's Training College



Harigaon, Ara, (Bhojpur)
(Recognised by ERC, NCTE, Bhubneshwar, Affiliated to Aryabhatta Knowledge University, Patna)

SHING CORPORATION INVOICE I)			
NSARI ROAD,DARYAGANI,NEW DELHI-110 002 77.N.AGARWAL TEACHERS TRAINING COLLEGE HARIGAON P.O.SANYA BRAHATTA,P.S.JAGDISPUR DIST.BHOJPUR RRIGIN BOOKS TITLE								
TANAGARWAL TEACHERS TRAINING COLLEGE TIARIGAON P.O. SANYA BRAHATTA,P.S. JAGDISPUR DIST, BHOJPUR ARA-802186 Grider Ref # Carrier REGD.POST O1 Sept.2021 INVOICE R RIGIN BOOKS TITLE ANNUAL SUBSCRIPTION FOR JOURNALS INVOICE N ANNUAL SUBSCRIPTION FOR JOURNALS JAN. DEC 2021 JOURNAL EDUCATION TODAY JAN. DEC 2022 JOURNAL EDUCATION TODAY JAN. DEC 2022 JOURNAL EDUCATION TODAY JAN. DEC 2022 JOURNAL EDUCATION IN 21ST CENTURY JAN. DEC 2021 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2021 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2021 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2021 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2022 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2024 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2026 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2027 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2028 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2028 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2029 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2021 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2022 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21ST CENTURY JAN. DEC 2025 JOURNAL OF EDUCATION IN 21	ISHI	NG CORPORAT	ION				Invoice	
PO.SANYA BRAHATTA,P.S.JAGDISPUR DIST.BHOJPUR ARA-802186 Order Ref # Carrier REGD.POST 01 Sept.2021 INVOICE REGD.POST 01 Sept.2021 JANDEC 2021 JOURNAL EDUCATION TODAY 1 1,600.00 1,600	2740	ARI ROAD,DARY 050/9810121903,	AGANJ,NEW DELHI-110 002 E-Mail:aphbooks@gmail.com					
PO.SANYA BRAHATTA,P.S.JAGDISPUR DIST.BHOJPUR ARA-802186 Order Ref # Carrier REGD.POST 01 Sept.2021 INVOICE REGD.POST 01 Sept.2021 JANDEC 2021 JOURNAL EDUCATION TODAY 1 1,600.00 1,600	T.N	AGARWAL TEA	CHERS TRAINING COLLEGE					
DIST.BHOJPUR ARA-802186 Order Ref # Carrier REGD.POST 01 Sept.2021 INVOICE REGIN BOOKS TITLE ANNUAL SUBSCRIPTION FOR JOURNAL S 1 JAN-0EC 2021 JOURNAL EDUCATION TODAY 1 1,600 00 1	P.C	D.SANYA BRAHA						
REGD POST 01 Sept.2021 INVOICE 7 252 ANNUAL SUBSCRIPTION FOR JOURNALS 1 JAN-DEC 2021 JOURNAL EDUCATION TODAY 1 1,600 00 1,600 0	DIS	ST.BHOJPUR						
REGD POST 01 Sept.2021 INVOICE 7 252 ANNUAL SUBSCRIPTION FOR JOURNALS 1 JAN-DEC 2021 JOURNAL EDUCATION TODAY 1 1,600 00 1,600 0	lor	der Def#	Covide					
ANNUAL SUBSCRIPTION FOR JOURNALS JAN-DEC 2021 JOURNAL EDUCATION TODAY 1,600.00 1,600.00 JAN-DEC 2022 JOURNAL EDUCATION TODAY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL EDUCATION TODAY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL EDUCATION TODAY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1,600.00 1,600.00 JAN-DEC 2023 JOURNAL OF EDUCATIO	1	del Kel w		新心态上的		THE RESERVE TO SERVE THE PARTY OF THE PARTY	S. B. Walls of St.	SETT HAVE THE
ANNUAL SUBSCRIPTION FOR JOURNALS 1 JAN-DEC 2021 JOURNAL EDUCATION TODAY 1 1,600.00 1,600.00 2 JAN-DEC 2022 JOURNAL EDUCATION TODAY 1 1,600.00 1,600.00 3 JAN-DEC 2021 JOURNAL OF EDUCATION TODAY 1 1,600.00 1,600.00 4 JAN-DEC 2021 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 5 JAN-DEC 2022 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600	RIGI	IN BOOKS			01 Gept.202		· 化二元基金	
1		新西港市区等	TITLE		Quantity	Price	Amount	
1	AI	NNUAL SUBSCR	IPTION FOR JOURNALS	建 型基于E	THE REAL PROPERTY.	新工作 新加斯	(株式 単位)	
3 JAN -DEC 2023 JOURNAL EDUCATION TODAY 1 1,600.00 1,600.00 4 JAN -DEC 2021 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 5 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 7 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 8 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 9 JAN -DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,	1	JANDEC 2021	JOURNAL EDUCATION TODAY		1	1,600.00	1,600.00	
JAN-DEC 2021 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 5 JAN-DEC 2022 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 6 JAN-DEC 2023 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,600.00 1,6					1	1,600.00	1,600.00	
5 JAN -DEC 2022 JOURNAL OF EDUCATION IN 21ST CENTURY 1 1,600.00 1,		JAN -DEC 2023		CENTURY	1			
APR PUBLISHING CORPORATION A35 30/7, Ansari Road, Darya Ganj, New Delini-110002 Mage or shortage must be notified to this office on month of receipt of goods, otherwise no claim considered. The publishing corporation of the invoice are out of stock. The publishing corporation of the invoice are out of stock. For APH PUBLISHING CORPORATION of the invoice are out of stock. A435-36/7, Ansari Road, Darya Cari		JAN - DEC 2022	JOURNAL OF EDUCATION IN 21ST	CENTURY	1			
mage or shortage must be notified to this office it month of receipt of goods, otherwise no claim considered. mote titles not mentioned in the invoice are out of stock. APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Davis Comits and APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom	6	JAN -DEC 2023	JOURNAL OF EDUCATION IN 215	T CENTURY	1			
mage or shortage must be notified to this office month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 1435-36/7, Ansari AND Dana Considered. APH PUBLISHING CORPORATION 1435-36/7, Ansari AND Dana Considered.	-				6 Journals	1,000.00		
Mage or shortage must be notified to this office I month of receipt of goods, otherwise no claim considered. In note titles not mentioned in the invoice are out of stock. The publishing corporation of the invoice are out of stock. The publishing corporation of the invoice are out of stock.	+							
Mage or shortage must be notified to this office I month of receipt of goods, otherwise no claim considered. In note titles not mentioned in the invoice are out of stock. The publishing corporation of the invoice are out of stock. The publishing corporation of the invoice are out of stock.	+							
Mage or shortage must be notified to this office I month of receipt of goods, otherwise no claim considered. In note titles not mentioned in the invoice are out of stock. The publishing corporation of the invoice are out of stock. The publishing corporation of the invoice are out of stock.	1							
mage or shortage must be notified to this office I month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Continued.	1							
Mew Delhi-110002 mage or shortage must be notified to this office 1 month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. To APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dance Considered.							-	
Mew Delhi-110002 mage or shortage must be notified to this office 1 month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. To APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dance Considered.								
mage or shortage must be notified to this office 1 month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Considered.	-							
mage or shortage must be notified to this office 1 month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Considered.	-+							
mage or shortage must be notified to this office 1 month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Considered.								
mage or shortage must be notified to this office I month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Continued.								
mage or shortage must be notified to this office 1 month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Considered.	-			100	1			
mage or shortage must be notified to this office I month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Continued.								
mage or shortage must be notified to this office 1 month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Considered.	_							
New Delhi-110002 mage or shortage must be notified to this office amonth of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Coni	\rightarrow							
New Delhi-110002 mage or shortage must be notified to this office amonth of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Coni	-		4435-36/7, Ansari Ro	ad. Darva	Gani			
mage or shortage must be notified to this office I month of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CORPORATION 4435-36/7, Ansari Rom Dang Coni	\neg							
nonth of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi,India APH PUBLISHING CARPORATION 4435-36/7, Ansari April 2010			14C47 Bellin	110002				
nonth of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CARPORATION 4435-36/7, Ansari April 2010								
nonth of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CARPORATION 4435-36/7, Ansari April 2010							-	
nonth of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CARPORATION 4435-36/7, Ansari April 2010								
nonth of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CARPORATION 4435-36/7, Ansari April 2010								
nonth of receipt of goods, otherwise no claim considered. note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi, India APH PUBLISHING CARPORATION 4435-36/7, Ansari April 2010	-					100	Maria Table	T
note titles not mentioned in the invoice are out of stock. For APH PUBLISHING CORPORATION New Delhi,India APH PUBLISHING CORPORATION 4435-36/7, Ansari form Dang Continued.	1 m	ge or shortage m	ust be notified to this office				Rs 9600/-	
APH PUBLISHING CARPORATION 4435-36/7, Ansari ROLL Danie Cont	con	sidered.		stock.	For APH New Delh	PUBLISHING	10	ION
4435-36/7, Ansari Korn Danya Cani					APH PUE	LISHING C	RPORATIO	N
New Definiv10002	, .	V Fin	er's Travel		4435-36/7	. Ansari Kor	Danie C-	j.
(E Mavin Library)	(9)	Mary.	13011			vew Dethi 11	0002	
(S. Mayin Cibra') (S)		1121	7511			/		
	>	11 30 0	-01					
	, `	1 8 m	avin Library					

Principal
Tarkeshwar Narain Agrawal
Teachers' Training College
Harigaon, Ara



राष्ट्रीय शैक्षिक अनुसंधान ओर प्रशिक्षण परिषद प्रकाशन प्रभाग

ओ अर्थान्य माग नयो दिल्ली 110 016 WEIGHT 0111-26592337 26592338 E-PH 011 26861070



NATIONAL COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING

PUBLICATION DIVISION Sri Aurobindo Marg. New Delhi 110 016 Phone 011 26592337 26592338 Fas : 011-26851070

Postal Supply Bill

tal Supply Bill No.

PS/2021/GB/729

NCERT-HQ

Date:

2021-07-31 11:33:08.0

NCERT GST No.:07AAOC39078D1ZU TIN No.: 09766700451

ie Of Customer

TARKESHWAR NARAIN AGRAWAL TEACHERS TRAINING COLLEGE

ping Address

Address: Tarkeshwar Narayan Teachars Training college
Vill: Harigaon, Po: Sanya Barhatta, Ps:- Jagdishpur Ara
Distr: Bhojpur (Bihar)
Pin: - 802162
Mobile: - 9507865058,9006271560
State: Bihar
District: Bhojpur
City: Arrah
Pin: 802162
Phone: 9507865058
Email: library@tnabedcollege.com

al No	Item Code	Title	Rate	Qty	Net Price
	IER2019JAN	INDIAN EDUCATIONAL REVIEW JANUARY 2019	50.00	1	50.00
	IER2019JUL	INDIAN EDUCATIONAL REVIEW JULY 2019	50.00	1	50.00
	JIE2019AUG	JOURNAL OF INDIAN EDUCATION AUGUST 2019	45.00	1	45.00
	JIE2019FEB .	JOURNAL OF INDIAN EDUCATION FEBRUARY 2019	45.00	1 -	45.00
	JIE2019MAY	JOURNAL OF INDIAN EDUCATION MAY 2019	45.00	1	45.00
	JIE2019NOV	JOURNAL OF INDIAN EDUCATION NOVEMBER 2019	45.00	. 1	45.00
	JIE2020FEB	JOURNAL OF INDIAN EDUCATION	45.00	1	45.00
	JIE2020MAY	JOURNAL OF INDIAN EDUCATION MAY 2020	45.00	1	45.00
	BAS2019APR	BHARTIYA ADHUNIK SHIKSHA APRIL 2019	50.00	1	50.00
	BAS2019JAN	BHARTIYA ADHUNIK SHIKSHA JAN 2019	50.00	1	50.00
	BAS2019JUL	BHARTIYA ADHUNIK SHIKSHA JULY 2019	50.00	1	50.00
	EAS2019OCT	BHARTIYA ADHUNIK SHIKSHA OCTOBER 2019	50.00	1	50.00
	BAS2020JAN	BHARTIYA ADHUNIK SHIKSHA JANUARY 2020	50.00	1 -	50.00
	PS2019APR	PRATHMIK SHIKSHAK APRIL 2019	65.00	1	65.00
	PS2019JAN	PRATHMIK SHIKSHAK JANUARY 2019	65.00	1	65.00
	PS2019JUL	PRATHMIK SHIKSHAK	65.00	1	65.00
	PS2019OCT	PRATHMIK SHIKSHAK OCTOBER 2019	65.00	1	65.00
	PS2020APR	Prathmik Shikshak	65.00	1	65.00
	PS2020JAN	PRATHMIK SHIKSHAK DECEMBER 2020	65.00	1	65.00
	PS2020JUL	PRATHMIK SHIKSHAK JULY 2020	65.00	1	65.00
1				20	1075.00
al Charges				•	1 7.00
'ayable Ame	ount Rs.				1092,00 INR

very From

Address: Sri Aurobindo Marg New Delhi State: Delhi District: North Delhi City: Delhi Pin: 110016

Email :cbm ncert@nic.in

oks once sold will not be returned yment made once will not be refunded under any circumstance oks can be replaced in case of genuine printing and production defect

Principal Tarkeshwar Narain Agrawal Teachers' Training College Harigaon, Ara





 38/15. Jyoti Block, Sanjay Diace, Agra. Uttar Pradesh (INDIA) 282002

sales@agpgroup.in

www.agpgroup.in

Agrawal **Dublications**

Bill of Supply

AGP 2303/2020-2021 Bill Number:

Bill Date: 18-Mar-2021

HSN Code : 4901

Details of Receiver/Billed to

Tarkeshwar Narain Agrawal Shikshak Prashikshan N Transport Name Name

Village- Harigaon, Post-

Sanyabarhatta, Bhojpur, Bihar - 802186

Grade

State Code

Bhojpur (Bihar) - 802186

9572472111

Bihar

S.Remark

G.R No

G.R. Date Place of Supply

Private Mark

Order Given By

16-Mar-2021 Arah

Station Arah CB: 8574.00

413404

ORF 5141 -(B-2)/2020-2021

Anil Sharma (Marketing Executive)

Neg Bright Express Transport Pvt Ltd.

Address

GSTIN/UIN

PAN NO

State

10

SN Code	: 4901 Page 1 of 2	Commence of the	or Complete State of the	Septiment of	Less	Value of
No Bo Co	in all the properties and the second control of the control of the second of the secon	Qty.	Rate	Amount	Disc. %	Supply
1 ED03		5	100.00	500.00	25.00	375.00
2 ED04		5	180.00	900.00	25.00	675.00
3 ED04		5	110.00	550.00	25.00	412.50
4 ED09	,	2	75.00	150.00	25.00	112.50
5 ED19		5	120.00	600.00	25.00	450.00
6 ED81		10	210.00	2,100.00	25 00	1,575 00.
7 ED84		5	235.00	1,175 00	25.00	881.25
8 ED21		5	110,00	550.00	25.00	412.50
9 ED23		7	160.00	1,120.00	25.00	840.00
	Mangal	1 1				1
10 ED36		5	200.00	1,000.00	25.00	750.00
11- ED38	Lander Committee of the	10	140.00	1,400.00	25.00	1,050.00
12 ED48		5 -	220.00	1,100.00	25.00	825.00
13 ED6	71 स्वयं की पहचान - Payal Bhola Jain	5	110.00	550.00	25.00	412.50
14 PY34		10	40.00	400.00	25.00	300.00
15 PY34	12 मणित शिक्षण पाठ योजना (कक्षा -7) - Pramod Kumar	10	40.00	400.00	25.00	300.00
40 PY3	13 मणित शिक्षण पाठ योजना (कशा -8) - Pramod Kumar	10	55.00	550.00	25.00	412.50
17 EDG	80 Measurement, Evaluation And Assessment In Education - Bipin Asthana	10	240.00	2,400.00	25.00	1,800.00
18 ED8		10	170.00	1,700.00	25.00	1,275.00
49 ED8	And the second s	10	• 155.00	1,550.00	25.00	1,162.50
20 ED9		10	140.00	1,400.00	25.00	1,050.00
-21 ED9		10	180.00	1,800.00	25.00	1,350.00
22 ED8		10	210.00	2,100.00	25.00	1,575.00
23 ED9	25 शिक्षण एवं अधिगम - P.D. Pathak/Jyotsana Chauhan	5	220 00	1,100.00	25.00	825.00
	Total	169		25,095.00		18,821.2
Please No	ite;	-		Postage/Fr	eight (+)	0.00
				Round	off	-0.25
Amt In W	ords: Eighteen Thousand Eight Hundred and Twenty One rupee	sonly	34-	Bill Am	ount	18,821.00



SHRUT KIRTI AGRAWAL

NAGESHWAR COLONY, BORING ROAD
PATNA - 800001

BILL

To,

T.N AGRAWAL TEACHER'S TRAINING COLLEGE

Dated:

10.03.22

 PARTICULARS	AMOUNT
VIRAASAT 5 COPY @ RS 200	1000
LESS: DISCOUNT @ RS 50	250
Total:	750

Bank Particulars

SHRUT KIRTI AGRAWAL
SBI, Sri Krishna Nagar Branch, Patna
A/c No. -10223832759
IFSC Code- SBIN0003560

Shrul

SHRUT KIRTI AGRAWAL

Principal
Tarkeshwar Narain Agrawal
Teachers' Training College
Harigaon, Ara



T.N.Agrawal Teachers' Training College,Harigaon **B.Ed Book Requirement 2019** Price Per Total Quantity Sr. No Name of the Book Publication Author Amount Book Pedagogy of School Subject Sri Sai Computer 1700 Dr. S. K. Mangal & Smt. 170 10 Physical Science Subhra Mangal **Publication Meerut** प्रकाशन संस्थान अंसारी 3000 समावेशी शिक्षा 20 150 115 गदन मोहन ज्ञा रोड दरिया गंज दिल्ली 2250 225 रागावेशी शिक्षा अमित प्रकाशन जालंधर 10 ढाँ आशा शर्मा 116 750 संस्कृत शिक्षण (संस्कृत में) पो उदय शंकर डा। चौखम्मा वाराणसी 150 117 सरकृत शिक्षण (हिन्दी में) प्रो सतीष गितल चौखम्भा वाराणसी 165 825 5 118 English Grammar High School S.Chand and Compny 420 2100 P.C. Rain/S.Chand 119 5 Ramnagar New Delhi Composition National Curricullum ferme CentralGovernment of 0 0 M.H.R.D. 10 Work 2005 India Bihar Curricullum Ferme Work State Government of Bihar S.C.E.R.T. 10 0 121 2000

Total books	889
Page No - 1 Amount =	40845
Page No - 2 Amount =	38475
Page No - 3 Amount =	48375
Page No - 4 Amount =	49430
Page No - 5 Amount =	10625
Grand Total =	187750/-

T.N. Agrawal Teachers' Training College Harigaon, Are

Librarian
T. N. Agrawal
Teachers' Training College
Harigaon, Ara-Bihar

Total =

10625

Principal
Tarkeshwar Narain Agrawal
Teachers' Training College



(CASH MEMO)

VIDYARTHI PUSKAK BHANDAR

Dharman Chowk, Ara-802301

Retail Dealer :- School, College, Law, NCERT & CBSE Books.

Qty.	Description	Rate	Amount Rs. P.
	MINNI	-160	AN IND
	व्याप्त ह्या	80	80 0
1,1		81	8) 10
- u	किस्ति हो		444 00
	LOGIE CHIE	AT COL	2 (4 46 07)
		~1~~/ 111	Signature

(CASH MEMO)

VIDYARTHI PUSKAK BHANDAR

Dharman Chowk, Ara-802301

Retail Dealer : School, College, Law, NCERT & CBSE Books,

No. 2898 Date.
Name T.N.A.T.T.C. E.C.



Qty.	Description	Rate	Amount Rs. P.
1	DAILE T	100	100 00
'1 1:	ES XI	45	45 60
1	STI FILMS	48	62 70
]	2 Koort	165	105
1	KOTO XIM	Total	622 00

Principal Tarkeshwar Narain Agrawal Teachers' Training College Harigaon, Ara